MULTIPLICATION: DECIMAL NUMBERS (H - SET 3)

CHALLENGE Name:
Time: Score: A

571 10 x 0.45 = 86 1 X 252 =

52)0.0009 x 116 = 7 0.03 X 3.9 =

573 0.0005 x 7.3 = w5 1.1 x 0.37 =

571y () X 44 = 5800 () x 0.0311 =

575 0.001 x 0.101 = 590 0 x 0.0094 =

576 0.3 x 0.0155 = o110 x 0.165 =

577 0.6 X 53 = 592 (0.001 x 0.342 =

578 0.5 X 0.0259 =

579 () x 10 =

580 (0.07 x 0.0052 =

1) (0.02 x 237 =

2 0.07 x 4.04 =

583) (.01 x 0.0477 =

s 0.2 x 047 =

585) 6 X 2.88 =

Mathematics: Multiplication - Level 6 - Horizontal - Set 3
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0x1.3=

0.006 x 393 =

0.0009 x 0.276 =

0 x 391 =

6 x 0.0396 =

0.05 x 0.466 =

0.03 x 0.0007 =

0.0007 x 0.0389 =
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